@ 370 3 4 74 @ 6 7 ® 770

@D 178



ni"‘

@ 10x+9y =19

IS = Ao A 10 A x Wt 9 I y &
%E}- x 9ty Abo] o] FA AL 57

@ 9x-10y =93 ® 10x-9y =93



22 x, y7H ALY T, AAYHA 354y = 13 S T
() erel grol 41 ke

3x+y=13 2y Tsto] EH (D)
xoll, 2 3, 4,5 6 dsto] y o] 32 F51H

1| 2|3 |4 |5]6
@] 7141 |@)) -5

ol o, y ] Y (@ )olofef stz
e (1, 10), (2, 7), (3, 4),(®) °leh.

D y=-3x+13 @ 10 ® -1
@ Aoz ® (4.1)






o 8] A5



6. THe F ARIBA a7t 2L wl, ab o G
ax—y=29 2x-y=17
bx+2y=4 x+by=14

D 6 @ -6 A 12 @ -12 B 15



5,y 7H A4S ), DA 204 5(- 1) = 19 ] HE BE
2e

@ (1, 2), (2, 4) @ (2, 1), (2, 4
® (2,4),(7, 2) @ (1, 2), (5, 4), (6, 3)
® (5, 4), (6, 3), (7, 2)



AR 2(x+1) +ay =72 F 4 (2, 1), (-3, b) EN=Z 2=
olwf, a® + 2ab ] F2?

@D 19 @ 20 ® 21 @ 29 ® 23



9. LA sx+y-4=02 57} (3a, a) & W, a & F& 5t
ofzt,

=g
=¥



10.

AlZdol= HollA 6 km o7l EATof| 7= A&l A% 6km/h
2 AL g 71t EEoll A A7 2 UA Al 2km/h &2
AAAE B 7HA F 2 AIZF 30 2o ARt gt} 2 AE e
tAYE xkm , AFAAE EL AR E ykm S S, O3 F x, y
5 Fot7] Y AL R $2 A2?

x+y=26 x+y=6
®{x+y—23 ®{x+y—25
6 2 7 6 2 7
x+y=6 xX+y=6
CR SN @ g
§+67. 6x+2y:2.5
x+y=6
@ y

2x+6y =25



11.

© 2x+5y=-3
@® —-4dx+y=2

® 2x-3y+5=0

ODoeo,6e 00, 0,6 ®o e 606,66



ol 37} (2a, 3) € W, 3a - b O =






14. 9334 B ERCRL IR B S

11 15
= — = — :_17b:

D a 6, b 175 @ a 7

®a=-1,b==— @®a=2b=-3



ol 7t (m+2, 2) & W, A5 m, n ol

®
®
©)
N ©



a=x+2 ~
16. ALL44 Yo o a7t (2, 3) LUl a, b O] FE?
bx + 4y = 22

D a=2b=5 @ a=5,b=2 ®a=2b=28

@ a=5b=28 B a=8, b=5



17. xEyo4uo]il2x+3y =22 L o, x, y & 2t 7P o2 Eojgt,
‘é*:x:
D ERE



Xy
of ukAg Al 3+4_2
0.1x4+0.3y=1.5

2a — b O] F2?

D 1 @ 2 3 3



19. AgPAA T T T e A v = -y -3 2 W
3x+y=a
2y=4

2073 TV T e @Ay — x5 8 B4
2x—y=1">b

. a + b 9 gk= Fstofzh

5 e
=%



=
=

tol 419 a, b

S

@
= Fed ER
. ©

ax + by = 16
x—ay=14

W EAGY x =4, y= -2 Fgck. ©] B b-2a ] gk

o ¥
o2,

u}7

5t

?‘



